JDSF DanceSport Grand Prix in Fukuoka 2011 2011/04/10
The Result of Standard Final

Solo Dance(Waltz)

TES PCS(Original) Deduction Decision Total
1 2 3
[PB] [aml MM] [cP] Loss of |Dancing|. | L.ong Dress .
Posture, Quality of Movement to [Ps] | Ghoreography Balance Fall Delayed| E'avrly connect| out of DISC?ntI Error .tlme | pordl TES PCS Deducti Tgtal
Balance, Movement music Partnering Skill || 40 o tation| 1058 start | finish . i nuation Disconti| Violatio on points
No [Judge Base Value Base Value Base Value Coordination fon ime nuance n
A 6.60 7.15 7.15 6.00 600 © 0 0 0 0 0 0 0 0 0
B o . - 6.05 7.80 7.15 6.00 600 o0 0 0 0 0 0 0 0 0 0
e N O 1 L T O SR
18 [WS=0][HPE=0] | [WS=0][HPE=0] | [WS=0][HPE=0] : : : : :
E IWF=0JINV=0] | [WF=0]INV=0] | [WF=0JNV=0] 6.60 7.80 7.80 6.00 55| 0 0 0 0 0 0 0 0 0 0 | 1400 [31.74 | 000 | 4574
F [FPE=-0.5] [FPE=0] [FPE=-0.5] 6.05 6.50 6.50 5.00 500 o0 0 0 0 0 0 0 0 0 0
G 6.05 7.15 7.80 5.50 55| 0 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision 4.50 5.00 4.50 6.27 | 7.15 | 7.02 ] 5.70 | 560] 0 [ o [ o [ o [ o [ o [ o [ o [ o o
A 5.50 7.15 7.15 5.50 500 O 0 0 0 0 0 0 0 0 0
B 5 5 5 5.50 7.15 7.15 5.00 450 0 0 0 0 0 0 0 0 0 0
c 4.95 5.85 5.85 5.00 500 o0 0 0 0 0 0 0 0 0 0
[BV=5][GD=0] | [BV=5][GD=0] | [BV=5][GD=0]
9 [P [WS=0J[HPE=0] | [Ws=0l[HPE=0] | [WS=0j[HPE=0] 5.50 6.50 5.85 5.00 55| 0 0 0 0 0 0 0 0 0 0
E IWF=0JINV=0] | [WF=0JINV=0] | [WF=0JINV=0] 5.50 5.85 6.50 5.00 500 o0 0 0 0 0 0 0 0 0 0 | 1500 [2876 | 000 | 4376
F [FPE=0] [FPE=0] [FPE=0] 5.50 7.15 7.15 5.00 500 o0 0 0 0 0 0 0 0 0 0
G 5.50 6.50 6.50 4.50 500 o0 0 0 0 0 0 0 0 0 0
IS 0 0 0 0 0 0 0 0 0 0
Decision 5.00 5.00 5.00 5.50 | 6.63 | 6.63 | 5.00 | 500] 0 | 0 [ 0 [ o [ o T o 1T o 1T o1 o T o
A 6.60 7.80 7.80 6.00 550 0 0 0 0 0 0 0 0 0 0
B 6.05 7.15 7.15 5.50 500| 0 0 0 0 0 0 0 0 0 0
c L3 2 o 6.05 5.20 7.15 400 550| 0 0 0 0 0 0 0 0 0 0
D [BV=5][GD=0] | [BV=5](GD=0] | [BV=5][GD=0] 550 6.50 6.50 5.50 550| o 0 0 0 0 0 0 0 0 0
116 [Ws=0][HPE=0] | [WS=0][HPE=0] | [WS=0][HPE=0]
E TWF=0IINV=0] | [WF=0JINV=0] | [WF=0JINV=0] 6.60 7.80 7.80 6.00 550| 0 0 0 0 0 0 [} 0 0 0 | 1450 [ 3250 | 000 | 47.00
F [FPE=0] [FPE=0] [FPE=-05] 6.60 7.15 7.80 5.50 600 o0 0 0 0 0 0 0 0 0 0
G ’ 7.15 7.80 7.80 6.50 650 | o0 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision 5.00 5.00 4.50 6.38 [ 7.28 | 7.54 | 5.70 | 5.60 0 T o T ol oT oT oTlT oTlT oT o T o
A 5.50 6.50 5.85 450 500 0 0 0 0 0 0 0 0 0 0
B 5 25 s 6.05 7.15 7.15 6.00 450 0 0 0 0 0 0 0 0 0 0
c d : 5.50 5.85 5.20 4.50 45| 0 0 0 0 0 0 0 0 0 0
D [Bv=5](GD=0] | [BV=5](GD=0] | [BV=5][GD=0] 6.05 6.50 7.15 5.00 55| 0 0 0 0 0 0 0 0 0 0
147 [WS=0][HPE=0] | [WS=0][HPE=0] | [WS=0][HPE=0] ~
E IWF=0JINV=0] | [WF=0JINV=0] | [WF=0JINV=0] 6.05 6.50 7.15 5.00 550 | -05 0 0 0 0 0 0 0 0 o | 1400 | 27.85 | 050 | 41.35
F [FPE=0] [FPE=-05] [FPE=-05] 4.95 5.85 5.85 4.50 450 | -05 0 0 0 0 0 0 0 0 0
G 4.95 5.85 6.50 4.50 450 0 0 0 0 0 0 0 0 0 0
IS 0 0 0 0 0 0 0 0 0 0
Decision 5.00 450 450 561 6.24 | 6.50 | 4.70 | 480 05 ] 0 [ 0 [ 0 [ 0 [ o [ o [ o [ o [ o
A 4.95 6.50 5.85 4.50 550 0 0 0 0 0 0 0 0 0 0
B 5.50 7.15 7.15 6.00 600 o0 0 0 0 0 0 0 0 0 0
£ [BV‘54]t5(3D-0] [BV-S‘}[SGD-O] [Bv-s]s[GD-ol 495 220 850 250 o0} 8 g g g g g g g g g
) IWS<oliHPE=all | WssollhPESol ||| [We=oiiPE=o] 4.95 5.85 6.50 5.00 600 o0 0 0 0 0 0 0 0 0 0
E TWF=0IINV=0] | [WF=0JINV=0] | [WF=0JINV=0] 6.05 5.85 6.50 5.50 550| 0 0 0 0 0 0 0 0 0 0 | 1400 [ 2997 | 000 | 4397
F [FPE=-05] [FPE=-05] [FPE=0] 6.60 7.15 7.15 5.50 600 o0 0 0 0 0 0 0 0 0 0
G ’ ’ 6.60 7.80 8.45 6.00 600 o0 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision 4.50 4.50 5.00 5.61 [ 6.50 | 6.76 | 5.30 | 5.80 0 T oJT ol oT oT oTlT oTlT oT oT o0
A 6.60 7.15 7.15 5.50 600 O 0 0 0 0 0 0 0 0 0
B 6.60 7.80 7.15 6.00 600 © 0 0 0 0 0 0 0 0 0
c N - o 550 6.50 7.15 5.00 500| 0 0 0 0 0 0 0 0 0 0
D [BV=5](GD=0] | [BV=5][GD=0] | [BV=5][GD=0] 6.05 6.50 6.50 550 600| o© 0 0 0 0 0 0 0 0 0
231 [Ws=0][HPE=0] | [WS=0][HPE=0] | [WS=0][HPE=0]
E TWF=0IINV=0] | [WF=0JINV=0] | [WF=0]INV=0] 6.60 7.80 7.80 5.50 55| 0 0 0 0 0 0 0 0 0 0 | 1400 [ 3234 | 000 | 46.34
F [FPE=—0.5] [FPE=0] [FPE=—05] 6.60 7.80 7.80 6.00 600 o0 0 0 0 0 0 0 0 0 0
G : : 6.05 715 7.15 5.50 550| 0 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision 4.50 5.00 450 6.38 | 7.28 ] 7.28 | 5.60 | 580] 0 [ o [ o [ o [ o [ o [ o [ o [ o [ o

11



